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QUESTION 1

Which hardware component transports FC and IP traffic?
A. NIC

B. CNA

C.iscsl

D. RAID array

Correct Answer: B

QUESTION 2

Which storage technology uses optics for connectivity?
A. SATA

B. LTO tape

C. Fibre Channel

D. iSCSI

E. SAS

Correct Answer: C

QUESTION 3

According to SNIA, what are two valid storage tiering types? (Choose two.)
A. host tiering

B. application tiering

C. storage cache tiering

D. cloud tiering

Correct Answer: CD

QUESTION 4
What are the requirements for a boot from SAN? (Choose two.)

A. The host server and storage should be from the same vendor
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B. Only CNAs can be used
C. An active path to the LUN is required.
D. Zoning of the LUN containing the OS image is required

Correct Answer: AB

QUESTION 5

A company is concerned with high space usage on ils storage devices, especially during certain periods of
time when the same or similar information is being sent or received.

Which solution will address this concern?

A. data compression

B. encryption

C. thin provisioning

D. deduplication

Correct Answer: A
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